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25th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficulties in ____. / Taeii=aT (3Mfefe®) s=i & P HfSTE gt g1
1. Vision / ﬁ'@

2. Intelligence / g@

3. Social interaction /Wﬁ?ﬁw

4. Body movement / IRR Tfa=iterdn

Correct Answer :-

e Social interaction / JrHIS U

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

YUY agR fIRauur f & fore ue aiftres Ut SuaRTeare faftr T < @:
1. Dyslexia/ f&xaifaRmn

2. GDD / SiIgtet

3. ADHD/ TSITgE!

4. ASD/ UUHS!

Correct Answer :-

- ASD/ TTHS!

3) Which of the following is not true about the team teaching method? / 9 Rreor vgfa HIN A FafafRad Cac kel =r€r%7

1. Difficulties are faced in maintaining harmony among team members / M F HT'RT?[ & S g CRILY RGO ke Eb'%_*ﬂ%'fh T HHAT hRAT Usdl %I
2. It is cheaper than other methods of teaching in terms of finances / U8 fas H’Q'?-f o fRreqor & 3y fafer ot qga-r o = %I

3. Teachers get better opportunities for optimal utilization of human resources / HTIHd TG & FaraH ST & T%TQ fQT&[ﬁ Eall a’s?ﬁ JaR firda %I
4. It is a highly flexible method of teaching in terms of scheduling / T8 wg-fAuiRor & de o Rrerr w1 uw 3 e R 8l

Correct Answer :-

« It is cheaper than other methods of teaching in terms of finances / Ig o & T o freor & o=y fafday &t SR IRl

4) Which of the following elements is there in problem-solving skills?/ fafafada P T FAT-FER Pige & g %?
1. only the steps to reach the goal / FHId A dD UE\IT"I%T & T

2. only the goal /éﬁﬂ &g

3. only the problem / FHad qEw

4. all of the above/ SR Faft

Correct Answer :-

« all of the above/ IURTGT G



A child thinks that because he wants to have pizza for dinner, his parents must want it too. What type of thinking is this? / T& d=l Jrerar % f& i‘[ﬁ?
g I & WA F g e arean 2, @ 37 Arar-fiar 31 +ft ot @ifte) gz 5 ver @t 9 @2

1. Meta-cognitive thinking / ST (Hel-HHTHD) fid
2. Egocentric thinking / @dfad GRfe®) fidT

3. Abstract thinking / @I'{Ef Ria

4. Psychotic thinking / RIS ([AR®IeH) fd

Correct Answer :-

« Egocentric thinking / W fed @NIf®) fid

6) Learners learn best when / ﬁT&ﬂiﬁm ISt GRS Jraa % Sod_

1. they listen to the teacher and obey all classroom rules. / g e o1 aﬁw % 3R P b gt e &1 ure W%I

2. they understand the lesson and write good notes. / 3 ﬁq'q a'ffﬂ'ﬁlgl?f % GﬁT \"H@ :hw mﬁ %I

3. they understand the relevance and are motivated to achieve the learning goal. / 3 U & Wﬁ % IR AP &I B U A & ﬁ"TQ PIEG Eﬁﬁ %I
4. they follow all rules and are quiet in class. / 3 it Frowl o1 U HRa § SR e H id 38 o

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / 3 URifiIpar ot H’H@ﬁ % 3R 3T & & Y U H B 1%1? ofa aﬁ %I

7) The seat of Intelligence in human brain is WG] Aferss A g@ Ak %I

1. Brainstem / STRH

2. Cerebellum / Gﬂ'ﬂﬂ%@ﬁ (@ﬁv_v‘lﬂ)
3. Cerebrum / THRKTSH m

4. Spinal cord / FHGUS (WTSH Hls)

Correct Answer :-

. Cerebrum / JARTSH m

8) Which of the following is the best way to increase correct responses and appropriate behavior? /
gt ufafsranaii sk 3fud aeR @1 9gM & e Fufafed # @ o9 a9 sro1 afier 32

1. Punishment / 8

2. Praise / U=T

3. Ignorance / 3T

4, Strictness / Tt

Correct Answer :-

« Praise / U=l

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of exceptional children? /
SRTYRYT gl 31 AIER Haeh gAwrsi & g 3R STaR & Ry smd W v faft &1 Sy faan s &2
1. Survey method /ﬁ&m fafdr

2. Case study method /Ww fafer

3. Observation method / ﬁlﬁ&‘l'UT fafy

4, Experimental method / AT fafy



Correct Answer :-

« Case study method / P9 el fafy

10) Which approach believes in teaching reading based on sounds? / g} & YR W U3-UT64 A i IT eDF01 Ay Ha1 82
1. Analytical / fa=eryonaT®

2. Syllabic/ JTeG=1

3. Global / et

4. Phonic / BIA&

Correct Answer :-

« Phonic / BifF®

11) According to Thompson, children can identify their own gender by the age of/ YT & SR, T A WY & o Y UgdH g9 39 J B
TPAE:

1. Five years /ura oy
2. Two years kL

3. Four years / IR af
4. Three years / dFaf

Correct Answer :-

e Three years / oy

12) What is the term used to describe a person’s tendency to remember positive rather than negative experiences?/
APRIAS SFUAT & T THRIAS a1G 3@ & g fedt safea a9} vafy &1 aofa w37 3 759 ug &1 Swah fawar sirar 32
1. Rehearsal effect / rgafmm RIC)

2. Retroactive effect / Wﬂlﬂa

3. Lightbulb effect / digcded YHIT

4. Pollyanna effect / Trefan yuTE

Correct Answer :-

e Pollyanna effect / Trefa gy

13) What type of memory is sometimes referred to as nondeclarative memory? /

5 TR F Ffa F FU-FUR srEvuITHS Vfa F T & ST S 82
1. Autobiographical memory / STeaRd (Hﬁm F{ﬁf

2. Factual memory / TATHD Wﬁ

3. Short term memory/?l'ﬂ—ab—l?ﬁ:l @jﬁ

4. Procedural memory / Um'l?ﬂ?ﬁ@jﬁ

Correct Answer :-

« Procedural memory / UfshaTHS® @jﬁ

14) An assessment that is carried out throughout the course is called N
g ATHE Wil Q¥ UTSUshH &b SR fohaT ST &, HgaEi gl
1. Formative assessment / TdATHD HTh AT

2. Summative assessment / WW



3. Diagnostic assessment / WW
4. Tnitial assessment / TRTY& SMTpar

Correct Answer :-

» Formative assessment / XdTHSD bl

15) Which of the following is not a form of bullying? / FafafEa & a P T ISUTRN BT Th U 81 82
1. Teasing other children / 3= T Bl %37'”

2. Pushing other children / 370 &l B1 YT oA

3. Mutual exchange of lunches / &9 &1 URTIR® 3faell-gaa

4. Insulting other children / W ol BT YA HRAT

Correct Answer :-
« Mutual exchange of lunches / &9 &1 TR 3GaAl-agal

16) Which of the following clinical procedures are based in part on classical conditioning?/

FrafafEa & & o W@ Aerte ufsan e SR w snurfiva 32
1. Token economy / GG Eﬁﬂqﬁ

2. Two chair techniques / § PR THDT

3. Transference/ RITAIARUI

4. Systematic desensitization / TITRYT ﬁm

Correct Answer :-

« Systematic desensitization / TG W@W

17) Which chromosome is responsible for determining that the child is born male? /

B A1 R T8 et #3 g Swrerdt §ia1 & i s R Gergen @2
1. Y chromosome /'Y ORI
2. C chromosome / C TR
3. L chromosome / L ORI

4. X chromosome / X UL

Correct Answer :-
* Y chromosome / Y T[URTA

18) If a child has no problems with any schoolwork other than reading and writing, what could he be diagnosed with? / afe fodit T B tl'aﬁ 3R forem

¥ 3rarar el 3T T B P HIS TAT 1L ©, 1 32 frad Frefia fpar s wwar g2
1. Learning disorder / 3ff2ATH fd®R

2. Communication disorder / TaR fd®R

3. Mental retardation / HIFRI® Hedl

4. Intellectual disability / G Sf&ma

Correct Answer :-

« Learning disorder / 3T fA®R

19) A child searches for an object where they previously found it even after they know it moved to another location. This approach is seen because of

limitations relating to /WWWMW@@WM%ﬂg’f%mﬁmmﬂﬁﬁﬁ%mmﬂ%l !rs'eﬁaﬁw J
Feiftra W13 & HTROT 3T AT B



1. Attachment/ 3{JTUD (G‘I%aﬁ?)
2. Egocentrism/ @ ( ?ﬁ@@\m
3. Conservation/ IR&UT

4. Object permanence / I3 B
Correct Answer :-

» Object permanence / Hﬂ@ﬂfaa

20) Who developed a Psychosexual theory of human development from infancy onward? / AEERIT | W4 A F1 Th AR Rrgia fram
fasfra fear

1. Erik Erikson / TR® 33&e

2. Piaget / s

3. Sigmund Freud / R0 1S

4. Vygotsky / Wﬂ?\"ﬁﬁ

Correct Answer :-

« Sigmund Freud / [GUEE R

21) The concept of intelligence is more related to: /m 3q ‘EI'ITU'I'I'T\‘I'\Q itica mﬁa%
1. Concrete thinking / uwftpﬂ%iaﬂ

2. Intuitive thinking / Tgs ICGE]

3. Rational thinking / dh&TTd fefa=

4. Emotional thinking / 4G feid

Correct Answer :-

» Rational thinking / GERUGICTE]

22) Rorchach ink blot test consists of / TR TITET BT YT URT&0T = & ST Gl &:
1. 10 black cards and 5 coloured cards10 / TTa TRt 3R 5 T TRy

2. 10 black and 10 white cards / 10 STe 3R 10 TG Ul

3. 5 black and white cards and 5 coloured cards/ 5 PTA 3TR Wha U 3R 5 T U=y

4. 10 multicoloured cards 10/ E@T’ﬁ T

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 BT 3R Tqthe U0 3R 5 T T

23) When failures are punished during childhood, it leads to WASCE Eedrs & mﬁw%ﬁﬁaﬁa%mm% a‘ru‘s' MR A
ATl

1. Negative reinforcement / WW
2. Encouragement / Eﬁ?\‘TIE:l
3. Persistence / 80

4, Learned helplessness / ST faaerd

Correct Answer :-

« Learned helplessness / ST faaera

24) Maturity affects learning because it impacts -/ ufeuear iftRTH F guTiaa el % e g8 fA=1 W yuTa sTern %:



1. Motor skills/ IR HIRTS

2. Readiness/ ddxdl

3. Cognitive capabilities/ GAFTHD eanaft

4. Both motor and cognitive skills/ S TTeR 3R THTHS IR
Correct Answer :-

» Both motor and cognitive skills/ I AR 3R TIHTHD DI

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.
Attention, retention and reproduction are 3 of these conditions.

Which is the 4'" condition? /

TR TR Rgia & AR, WHTHY RIS & T 4 3maxa® o g1

T, STYURYT 3R U= 3 3 I 51

aef = Far @2

1. Situation / fRfd

2. Attraction / 3THY0T

3. Imagination / ed-T

4, Motivation / UROTT

Correct Answer :-

« Motivation / JRUTT

26) Creating positive classroom culture falls under the domain of : / Wa?&ﬂmmﬁﬁfﬂm &h% 3iata 3T %:
1. Social need /FITI'I'%IT:F ARG hdl

2. Affective need / HIATHD TARIDB T

3. Psychomotor need mﬁwaﬁ SHTARGhdl

4. Cognitive need [ETHD ATl

Correct Answer :-
« Affective need / HIATHD TARYhdl

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /ﬁ"}lﬁl@'d A | T gwerdT U B |
BT P [RIT Th AHRIAD aP wI3d & =4 H afofd w3 qhar a2

1. Environment problem /WW

2. Medical and Psychological Reasons /ﬁlﬁv_(\"ﬂ @Tﬁaﬂﬁﬁw

3. Difficulty in writing /Wﬁw

4. Lack of Motivation and Interest to put efforts /Wﬁ?ﬂ?ﬁﬁ?ﬁmﬁw 3R B BT UG
Correct Answer :-

o Lack of Motivation and Interest to put efforts /Uﬂ-ﬂa@'ﬂ?ﬁa?mm 3R T BT 3T

28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of parenting is known as:/

w?ﬁmﬁuﬁaﬁmqﬁm%ﬂﬁﬂaﬁaﬁﬁwﬁmhaﬂnawmmmaﬂﬁ%mwmé'lwmaﬁﬁ%ﬁnaﬁﬁﬂwﬁm
SITdl &:

1. Permissive Parenting / Hﬂj:hﬁ PRfe
2. Uninvolved Parenting / SRyHferT R
3. Authoritative Parenting / MPTRe® W



4. Authoritarian Parenting/ TTaTG] URIT

Correct Answer :-

 Authoritarian Parenting/ e iR

29) Studies in human development take into consideration the period from: / A4 fd®Tg & 3regg= 9 @iy S &= & I@T @
1. Conception to adolescence / Ty ¥ fraRmaRT

2. Birth to adolescence / ST ¥ fH=IRTaRIT

3. Birth to death / S ¥ HRUT

4. Conception to death / T § i

Correct Answer :-

» Conception to death / e qg

30) CANCELLED

What is the full form of MBIT?/ THEI3MES! &1 quf ®u w82
1. Myers-Briggs test instructions / - fora witen Fdw

2. Myers-Briggs type of indicator / IR} R Whdd

3. Myers-Bricks type of indicator / - TR Hdhdd

4. Myers-Bricks test instructions / AT- oo wten fcdw

Correct Answer :-

» Myers-Briggs type of indicator / TR R s

Topic:- General Hindi (L1GH)

1) PR IA AR aa®
T ) B ghard,
forue forers 33 Y fepwo
TTEl o1 < Iredt wmedt 1
P FRNTAR

fer efa SRR 8 o1 9o,
AT 3 T IR GBI g
a4 1 R e i waw |
AifRra-ft aret axgen
et ot g A e,

3T IS P WA B
fpferforat & zvmmedt ISSdt Wi demea =,
i, BRe T il 7
e Y s, IRt At
¥ & wat § fRafra

& ¥E Wi we w Sl
TEad! el W et
it fyumg e at
fopeelt & &1 ¥ ot foraret



WP ol W G,

T R 7 o T

35 I gell & gl W

T T veriy ®) ygey 19 TR W 919 U= 1 Ik a5l

WE: §41 & 3P A ofd Bl U STelt A g STelt 1 g & o wnvrenn @2
1. AP AT IS MR N

2. 9aIE g@ B 8l |

3. 99 3 iR S

4. 99 3 =N @ o T WA B |

Correct Answer :-
BACRERC IR RN E LR
2) el al & gr aas
AN B HH ghare,
foradt forerst <fa 31 ol
TTE Y Iere Srett !
eI FRRTR

feer e SRR 8 we1 I,
TS Y T W FHT g
T4 1 R e i was |
AifRra-ft et axgen
St ot A A qret,

ST TS B A B
ffepforat § zvm=medt
It i+t daraa T,

o, gi oRT S g T
e $1 wfer, Fiei e
¥ gt A Rrafia

&9 W wRE A @l
T ufedl @ aeat
Siferat, fyure e @t
fopeeht 1 T Y forereht

T & Fal W G,

Fd fivd 8 o v

35 I geil & gl W

T T veriy #) ygey 19 U WM 919 U= 1 IR 9415yl
W el W gR qare o et g8 22
1. TRl gL MY

2 RAGUHAS

3. AT BT TEH TR
4. faaferdi & gfs

Correct Answer :-

. gRaTeh & 7w TeR



ATHA Y T TR GBI §oN
T &1 R Frefe e o)
Jwifera- el agem
Tt o A A et

IRER TS P AR B
fpfnforar ¥ =ium=mett
It Wi+ Serre T,

0, 3Ra wR1 A gl 38
e #Y e, dRit =it
TS wat & Rafra

& ¥ Wi AeR @S
T el W weat
Sferat, fyure i @t
el & 1 F1 ot forret

T & Fal W gy,

T e & o v
EEREECEECR

o 7TQ veriwr Y ygHR i U@ W 9T R $7 @R Farsel
T et e R P 30 varw fasTan wella St 2
1. Vg T wfert

2. S Il

3. Upfead fae

4, fyeiet =it TR

Correct Answer :-

. @ e s

P FRNTAR

fear efha RR & wr g,
TS 3 T IR GPT G
T &1 R Frefe e o)
it et agen
et St g A e,



IRER TS P EA B

fpfnforat ¥ =iummett

It Wi+ derre T,

0, gRa wR1 A gl 38

e #Y e, dRit =it

T8 d wat & Rafra

& 3 Wi AeR @S
Al Ufedl @ et
Sferat, fyare et @t

el & 1 $o1 ot forret

T & Fal W gy,

Fdl fiped 81 oo Wy

3§ IS Al A el W

o 7Tg veriwr Y ygwR i U@ W 91 R $1 3@ garsgl
e - faaferat e el w Sed et &2
1. T F Hall R

2 TS Ead

3. W9 b Ea |

4. AR S AU W

Correct Answer :-
. TH FA R

AT 3 T TR GPT G
T &1 R Frefe e was)
it et ager
et St g A aref,

IRER TS B A Y
fpfnforar ¥ =hum=mett
It Wi+ derrert T,
0, 3Ra R1 A gl 38
e # e, dRit et
T8 d wat & Rafa
&9 ¥ Wi AeR @S
T el W Tt
Fiftrt, fyume e @t
el & 1 $1 ot foraret



WP Hal W G,

T 5 & o &

35 I gell & gl W

T T veriy ®) ygey 19 TR W 919 U= 1 Ik a5l
T AR & 0 frua e e wr e R §
1§ A BIS TE

2. BRI P aRE

3. TSI A UR B RE

4. S TRt mRawe ot ofed & i fomr R SO XS &

Correct Answer :-

. O Ifeat e ot ofedl i fvm aR g9 E §
6) Feft @l H R aaH
T 3 Hrad ghare,
foradt forerst <fa 31 ol
TTE Y Iere Srett !
AR FRVTAR

feer e SRR 8 we1 I,
ATHA Y T TR FDT gorl
T4 1 R e i was |
AifRra-ft et axgen
St ot A A qret,

IRER TS P A B
fpfeforat & zivmmett|
It i+t daraa T,

o, gi oRT S g T
e ot B, A et
¥ gt A Rrafia

&9 W wRE A @l
T ufedl @ aeat
Siferat, fyure e @t
fopeeht 1 T Y forereht

T & Fal R Gy,

Fd fivd 8 o v

35 I geil & gl W

T T veriy #) ygey 19 U WM 919 U= 1 IR 9415yl
U RS F R R T R RIS W2
1. gt ufvar

2. G

3. gRA IR

4. gifediad

Correct Answer :-

- gRAIMR



AT Y T TR FHT g9
T &1 R Frefe e o)
Jwifera-f el agem
Tt o A A et

IRER TS P EA B
fpfnforar ¥ =ium=mett
It Wi+ Serre T,

0, 3Ra wR1 A gl 38
e #Y i, dRit =it
TS wat & Rafra

&9 ¥ Wi AeR @S
T el W weat
Siferat, fyare e @t
el & 1 F1 ot forret
T[T & Fal W Gy,

T e & ot v
EEREECEECR

o 71T veriwr Y ygHR i U@ W 9T R $1 @R ga1sel
WH: 39 Pfaar § 5w v & wied &1 aviH 2
1. }RG Fg

2. qHd Hg

3. gHd Bg

4, W 3Bg

Correct Answer :-

R FRNTAR

fear efha RR & wr g,
AT 3 T IR FPT G
T &1 R Frefe e o)
it et ager
et St g A e,



IRER TS P AR P

fpfnforat ¥ =iummett

It Wi+ Serre T,

i, 5Ra w1 i 7

rer o5t e, A et

T8 d wat & Rafra

& ¥ wfea AeR @S

Al Ufedl @ et

Sferat, fRyure e @t

fopeelt & 1 F1 ot foraret

T & Fal W gy,

Fol fiped 8 oo Wy

3 I$ gel A gl

o 71¢ veriwr Y ygwR i U@ W 9T R $7 3@ garsel
7= TRt F id pa P R F IR AR @R &
1. HieH

2. g8rS

3. T4

4. M

Correct Answer :-

AT 3 T TR GPT G
T &1 R Frefe e was)
it wreh agen
et St g A aref,

IRER TS B A Y
fpfnforar ¥ =ummett
It Wi+ derre T,
&, 5Ra w1 i 7
e # e, dRit =it
T8 d wat & Rafa
&9 ¥ Wi AeR @S
T el W Tt
Fiftrt, fyume e ah
el & 1 o1 ot forret



WP Hal W I,

T 5 & o &

35 I gell & gl W

T T veriy ®) ygey 19 TR W 919 U= 1 Ik a5l
W= Forrd aferat o WA & et gRft & At @ 7 2
1§ A BIS TE

2. Tt SR IS A

3. YT 3R Hadb A

4. S ARG H

Correct Answer :-

. SN SRAEH

10) el Aol A @R a@®
T 3 Hrad ghard,
foradt forerst <fa 31 ol
TTe Y Y Iere Srett !
AR FRVTAR

feer g SRR 8 wo1 I,
ATHA Y T TR FHT gorl
T4 1 R e i was |
AifRra-ft et axgen
St ot A A qret,

IRGR IS P AR Y
fpfeforat & zivmmett|
It i+t Jaraa T,

a0, gi oRT S g T
e ot B, A et
¥ gl A Rrafia
&9 W wRE A @l
T ufedl @ aeat
Bferat, fyure i @t
fopeeht 1 T Y forereht
TS Fal R Gy,
Fd fivd 8 o v

3% I geil & gl W

T T veriy #) ygey 19 U WM 919 U= 1 IR 9415yl
. frad fie ot sroet efta iy R @ &2
LIS ®

271G H

3.WE &

4, 3R F

Correct Answer :-

. T



11) Selt @t A gR q@H
TEHd B Haa ghard,
foru v 33 Y fewol
i B <t Forelt wreft 1
R FRNTAR

fea efa RR & w1 o,
AT 3 T IR GPT GIAHT
T &1 R Frefe e o)
it et ager
et St g A aref,

IRER TS B A Y
fpfnforar ¥ =ium=mett
It Wi+ Serre T,

0, 3Ra wR1 A gl 38
e #Y i, dRit =it
TS wat & Rafra

&9 ¥ Wi AeR @S
T el W weat
Siftrt, e e @<t
el & 1 F1 ot forret
T[T & Fal W Gy,

T fibvd 81 o g
EEREECEECR

o 71T veriwr Y ygHR i U@ W 9T R $1 @R ga1sel
TR: 3RER 3R T ST B T IR 92T W& 82
1. g

2. TA HIER

3. fofesar

4. R

Correct Answer :-

o B

12) Helt @t A gR q@d
TEAY Bt Haa ghard,
forad v 33 Y fewor
AT P < Forelt wireft 1
R FRNTAR

fear efha RR & wr g,
AT 3 T IR FPT G
T &1 R Frefe e o)
it et ager
et St g A e,



3REY TS B AR B

fpfnforat ¥ =iummett

It Wi+ Serre T,

i, 5Ra w1 i 7

e #Y i, dRit et

T8 d wat & Rafra

& ¥ wfea AeR @S

T el < weat

it fyume e ah

fopeelt & 1 F1 ot foraret

T & Fal W gy,

T v & o v

3 I$ gel A gl

o 71¢ veriwr Y ygwR i U@ W 9T R $7 3@ garsel
R 919 R 3 0t hewdt § @t fra fia w1 um i 32
1. g AT B

2. SH Y DI LT

3. O et 9 3t 1 e o e &t

4. ST H HTT B

Correct Answer :-

. SR foret 7 =it o1 ot et fean

13) CANCELLED

Pl Qal A R TP

T 3 Hrad ghear,
oo forer 23 97 faeol
TTE) B} T Ieredt wmedt
R FRVNTAR

foer 5 SRR 8 o1 I,
AT Y q TR FPT g
T4 1 R e fia wes |
Jwifera- el axgem
Tt < AF A aret,

IRER IS P AR B
fpferforat & zivmrett|
It i+t dara T,

a0, gid oRT S i T
e 3 o, dft =fiet
TS wal & Rafra

& 7@ sfEa AR wE
T Ul W et
FifraT, fsume die @t



fipeelt 8 ¥ ¥ 1 faraett

[ F Fal R G,

Fd fvd 8 o v

33 IS el A gal W

fow 1Y weriwr &t ugwR A g W1 arel U= $1 SR qargul
T: T & TS o1 STl i 3R WA 9t oy il & wig e §2
1. AT T "

2. TS5 SIferdt &

LURI BN

4, TR

Correct Answer :-

. TERE

14) CANCELLED

Fofl Dl A R dAD
AT B FrHd ghare,
foradt R <3 3t ot
T Y < Forelt wreft 1
P FRNTAR

fear afa SRR & w1 9,
AT Y T TR FHT §or
T4 1 R e i was |
Jrifera-<ft Tl agen
St ot A A et

3T IS P A B
fpfHforar ¥ =hummedt
gl i+ e T,

0, 3Ra wR1 A gl 38
Hrera @t s, A et
T el A Rafha

T e W we w S
TEad! ifeal W aewt
Biferar, fyure diwr @t
fopeelt & &1 o1 ot foraret
TS Gl R Gy,
Tl fiped 8 oo Y

3 I$ gdl A el

T ¢ ygiw 1 vgey H19 U WM 91 U 1 Ik gars|
TR 3T P SR B GG AN TR AT 3R HIA 87
1. FTGHaT Xfed

2. Jrefigut

3. TR

4. TGATYU}
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Fofl Qal A R dAD

T P B ghard,
forue v 3y 7 fewo
T Y < Forelt wreft 1
P FRNTAR

fear efa SRR & w1 9,
AT 3 T TR GBI g
T4 1 R fefa i waw )
Jrifera-<ft ereh agen
3eft ot g A e,

3T IS P A B
Tt ¥ =hummett
It i+t dare T,

0, 3Ra wR1 A gl 38
e $t B, d=A et
¥ % wat § fRafra

& e W He w S
TR et It dewt
it fyume e ah
fopeelt & &1 o1 ot foraret

T & Fal W Faw,

T a8 o v

33 IS gdl A gl

T ¢ ygiw 1 vger H19 U WM 91 U 61 Ik Tars|
T GRd g B WIGHAT H P Aaarel 81 TS 2
1.8

2.8Ra

3. fecsdt
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URTde 9fScar UReAed YEH Jaad -

HCAHIGTHATOAIIET ST 2¢s? dH Tohtdied TR 378ad| 38 fOar
qiffeh: STEAUT: 3UGeh: T NIl Sed HAGTHIGe: HEhAUTSLATATH
US| dd™ GIAEITTICATAT ST, 3UME J[glear 3egTeh: 3787d |
Hefed¥H 3H 3Taaq AT Iglcar Helel HF9lGep:, dekehlet:, 3T
HINUTehdl o 3787 HNAIT-HEehd: &I 376 HGISIRT: IRV %q
faeafdearera:’ sfa AW Agd: GEAWTET TAYAT Hade(l dar T 34t
g JXT TEAEET TUA: Feufd: 3e7ad] Hfdugaseeay AAed:
FITEEA™T ufgse: 3ead| 3 [AAeERE:, ARARAT:  §eadnr:
ULH: e, Tcdderdl, FoNUIhall o A 37cT: dedta ey
AQY 3T AUET IHeTad| FelcAT Il AT TEoISOHIIdedH
AT IeI 31T ARAEAdRAn: g8 §Fde: 3ad quiy
T AP AR STl T FHBCHAT T TEAFAAA  3Hde|
eye, @ af I WoleEesdl A% SRUTAfRawdT dvadr A,
STeAuCGigdehdl UMAaEd adsadl Ul TdTeRr: T gGelsT: aidl 3
AHATA AT |

ATTARRY Sglocd: A a¥ FHeId-

238l
, 2%%Y

5, 9R¥E

4 {]¥o

Correct Answer :-

. 9%yE
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HCAAGAATCAIIET STod 2¢st dH Tohedied YIRENER JHad| 38T TUar
qiffieh: SEAU: 3UGRh: T NI Ted HAGHIG: HEhAUTOATIATH
US| T YAFEIARATIEATeATd .U, 31 [glcar 3{eqTdeh: 3787ac |
IelecRA 3TH ITIRT fRIGT IEIcar Al §odlaeh:, Jeehlel:, 37eld#:
STYUThl T 3787l $TRCIT-T¥pel: T&TTAH 378 FETHET: aRIoTEAT %q
faeafaearera:’ sfd AT Aed: TEACTET FTAYA hdel dar T 374t
g dET TEAET FUH: Fedfd: eTad] HfAugas=eay AATed:
FEIFHEARIT Uldse: gl 3l HFeiT:, ARAR™En:  |eadn:
UH: #Fd:, Hegadkdl, FeYuhdl o 3| 31 oA ey
AQY 3T IUET G| FelAT el AT FEeISosddedH
FATAl eI 3 ARAIEATleTdrr: T §Hded:  Jfefad  dunfy
ITeT: AHHRN: HRART: STl T FAPCHT 3T TEAFATH  HPa|
jye, O I¥ I ISl @it FITCIﬁ%?ITFcI‘r gasgdr uﬂ%‘r
SATGiRdehdT MATET gasIal WA TATERr: TG gt Adl 3R
HHAA AT |

ACAAIGACT FAeHEATTH ITCHAE-
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Tepel: S FLAS | URNATAEGTOT FIer: ehel HAIfd TH | 37: 5TH
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aReee afdcdl 9eaed qgHcR Fead -

STeleehlel A AN A% dHled €A | d3d AT pdled €A | @
TEhel: 3 FLAA | IRNATALTOT JIIer: Pl o7l TH | 37c: 5TH
U g fAerodgfa: gt g oA U ggfd: deehred. TiEeT
3T | T¥Pel T T Al BT, ITerdfd |
TATCHISPERUIET: 3TNy UG Hled | AU ATHAAT:
facamsara: areHlh: JRpel eHad 3 U@ TT | HEARA
AIITAIRT: FHY FEorhderar: fdeaream: emad 3fd ad Ses: |
Ud HIIY $3 Usia: UiEEried |

Tohol BIAT: ACTAEACIATH, AT Pl | 3AA HE Teboiladiafe]
AMEPIEI SUCATed | UIa: HF T el Pafed | U T
Fdfed | BMET: TEITETCAEAARG o W‘@T FGAT Fdfed | BT

mﬁmﬂmﬂma‘cﬁl
3-]Tﬂlu-lchchlcﬂsﬁ 9gd: Ioholl: AGUATEAGIS], AT Ted | 31F reiediau:
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vellenl afcar srenfafesesd ueeed Ygaccl TaId —
faufe ddmamegey avar Aefd arededr gier fashe: |
IR rfeETaedaed Adt upfafsae & dgrcasie ||
fraraveR- ad qofed Sieda: |
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Correct Answer :-

27)

URTBE UfScar YT YGHH A -

HAHIGIATAAIIET SToH 2¢$? dH Tohedles TR ATl 36T T
Oiffeh: SEAUT: 3UGelh: U Al dTed HAGSTHIG: HEDAUTGATIATH
HYSA| dd YAEITITTICATAT .U, 3UMY I[Elear 3TedqTdeh: 37#dd |
HeAed¥H 3H 3Tadq fAeT I[EIcar Helel HFUIGeh:, drekenhlel:, 3AUA:
HIYUThdll o 3T#ad| HARAIT-HEpd: T&TH 378 HeeleT: JRIoEm feog
faeafaearerd:’ sfq AT #d: GEAHET FAGAT Hdde| dar o 3El
Uq 8T EACET UAA: FHodid: JeTad| Sidudasieeal AT
FlHHEEA™T Ufdse: 3Had| 346 AAcaRE:, #ARER™EE  geadrrn:
GE: #Herd:, Hoddddl, GHTUhdl o | 3T Mosd TG RAY
AGY T AUET IEd| HElCHT IRl A T ASSHIdodH
HAG| YA 318 ARAIEAATRT: WH: FASS: 37ad quiy
3o Aeh: HARAAT: Fel: ° GHAOHT 3T TEHFAGAH  3ehde]
ye. dH IY¥ Al TelHIITSd| Wi aUTdiededl gasadl I,
STAYGTedehdl TIfdaey gasadl UieAlfd| udreer: U4 %oﬁa: AdT 3T
AHATT AT |
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Correct Answer :-

) QLI+ +3T+A+3T 3T JUTHASTTH -
. STRT2TeT
, W

, STeYeT
, G

Correct Answer :-

Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an

3c(a+ b)THF __RI

1. algebraic equation / STSTOTCY THTEHROT
2. monomial polynomial/waﬁm
3. binomial polynomial /WW



4. trinomial polynomial / FUEH 9gue

Correct Answer :-
+ binomial polynomial / f§UcIa sgue

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
e x-3e A TP g P P daaa gl 8P &

3R I BT UG x-37ef B BUTHS MR Ra g, A g p A &:

1. Ordinate = 8 /P =8

2. Abscissa= 8 or -8 / {sT = 8 3{dl -8

3. Abscissa = 8 / Yol =8

4. Abscissa = -8 / Yol = -8

Correct Answer :-

« Ordinate = 8/ ®ifc =8

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is: /

Ife TP o add WP BT 9 YENT QoTbd 12320 7 A1 9UT 37T My Br=ur 56 4t 2, o st Sard &
1.42 cm/ 42 9t

2.24 cm /24 T

3. 40cm / 40 T

4,21 cm /21 31t

Correct Answer :-
o 42 cm /4291t

4) What is predecessor of natural number 1? /
UTpd =T 1 B Ydadi e Fa1 872

1.2

2.1

3. no predecessor / B1S Jddd! T et &

4. 0

Correct Answer :-

» no predecessor / CaES Eﬁﬂ?ﬁm Tg

5) Which one of the following is not an objective of scholastic assessment? /
fFrafafea & & #9-a1 fagFl & geaied o1 U I 76 82

1. Knowledge / JTH

2. Analysis /WEI'UT

3. Comprehension / JHH

4, Attitude / TIgRT

Correct Answer :-

« Attitude / FHIGRT



6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TP U Uy &1 TRUT 45 At 31 39F TH Youl $I dars foba-i 82

1. 9cm/ oG

2. 9.5¢cm/9.5 3w

3. 7.5cm/7.5 98

4. 15cm/ 1594t

Correct Answer :-

« 9cm/9

7) pZ+gqd-z°
If p=-2, q= 3, and z= 2, then find the value of -
>+pa-paz

. piql—z® i
afg p=-2,q=3,79 =2 %,FIT mfﬂ A AT A
Z

= +— e =
x*—5x+6 x*—7x+12 =x“—6x18

1. (x-3)
2. (x-2)
3.0

4. (x-4)

Correct Answer :-

The diagonals of a rectangle PQES intersect at the point O. If
£P0OQ = 130° then £ORS =7

3 PQRS & faet vhge 7 fig O W afaeda #xd
£ afe £POQ = 130°, dd £ORS =7
5 —R




Correct Answer :-

250
10) The area of sector of a circle of radius 10 ¢m and of angle 60° is - f
10 ¥t =2 Gor 60° FIT T UF Td & HedWS & ATAR &
Esq cm/ Ea?‘r o
6 6
1.
? sqcm / ?Eﬁﬁ' o
2.

167 187
T sq cm / Ta?ﬁ' leﬂ:ﬁ'
3.

4.157sqem/ 157 aif Qe

Correct Answer :-
157 157
gi sqcm aia?’r Epaly

11)  Given two right angled triangles PQR and DEF _such that 2 Q=30.

£D=30 and QP=DE write the correspondence if triangles are congruent. /

o AT T3gsT PQR R DEF 5 &R 74U a0 § 7 £Q =30, «D =30 3R QP=DE
21 afg Bers wales € aF "eadr d

. ARQP=AFED

, AQPR=ADFE

3. APQR=ADEF

, APQRAEDF

Correct Answer :-
APQRZAEDF

12) APQRis an isosceles triangle with PQ=PR. Altitudes RF and QG are drawn to the sides PQ and
DR from vertices F. and Q If one altitude RF is 3 cm and the base QR is S5cm then GR= i

APQRUF THEfdAE Byt 8, fAwd PQ=PR & <fideial RF 3R QG &l ofif Rud Q&
g1 PQ 3R PR &% ©renm orar 81 af v offeid RF 3 @9 § 3K 3mam QRS &+
garGR=__ |

1.4 cm /4G

2.3 cm/3 9



3.5 cm/ 59t
4.6 cm/ 6 qHt

Correct Answer :-

« 4cm/4 9wt

13) AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the

area of AABCis _  /
AABC &1 U% Afegar ADE a1 AD & Azafdg M1 afg ABMD &I alF%a 2.5
{#R .9 AABC &7 &% |

1. 20 cm? /20 Y2
2.10 cm?/ 10 4P
3.5 cm? /5 32

4,25 cm? /25 JE2

Correct Answer :-

« 10 cm? /10 ¥R

14) . 1 . . . . .
Anu’s ageis ;d- of her mother’s age .If Anu’s age is 12 then mother’s age is /

3o T 3G IGHT AT T 3G # 1/3 B1 TG 3 KT 7Y 12 a¥ g A A Y &

15) The length of two trains T1 and T2 are 620 m and 480 m respectively. The length of the freight
train T3 is twice the sum of T1 & T2. Find the time required bv T3 to cover a post on the
distance
17
speed

ar e T1 wd T2 &1 oas FA 620 Hiex 3w 480 #Aex &1 A T3 &7 das
T T1 wd T2 & 07 & g 1 afg saahr afd 20 #Aexfas &, o T3 @R &
TIEHIH W U URE & UR oo & o0 Haedsd THT 71 F?

platform if it has a speed of 20 m/s. [time =

1. 3 minute 10 seconds / 3 e 10 %S
2. 1 minute 50 seconds / 1 fiFe 50 ¥
3. 2 minutes 10 seconds / 2 fiFe 10 &S

4. 2 minutes 40 seconds /2 fiFe 40 Y3

Correct Answer :-

« 1 minute 50 seconds / 1 fFe 50 Y% S



3x+y+2 _  3x-y-1  x+3y+1i

If 5 y , then find the value of x and v.
_{’I% 3x+3y+2:3x—y—1:x+3;y+1 %.,(__h_ xI'Ei )‘$ AT ?ﬂ?f ﬁl

2

x=2 ==
5
1.
x—3=v=-5
g
2.
1
T
3.
4.x=2,y=3

Correct Answer :-

P ol
: B
17) oo
If @ and § are the zeroes of the polynomial x* — 5x + k, wherea— = 1,thenk=__. /
e aCd B 9GUE x* —Sx +k & YeAH GG a—f= 18, AMhk=__
1.—6
2.2
3.3
4.6

Correct Answer :-

18)  Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure 2 | Figure 3 Figure 4
Fully-filled 3 g 6 4
squares

Half-filled 7 _ 2 5
squares

More than half 4 4 _ 8

filled squares

Less than half 9 7 B _

filled square

Find the figure with larger area. /

ot arferer & afttg ame dfie W 9 3tes fev aw &)

Fa} fohdr a7 | 3THsT] | HTHST2 | 3THS13 ITHsT4
HE]

gof w7 & s | 5 ] 6 4

GEIl

3T e1Y gar 7 - 2 3
e F A |4 4 - 8

8Ty It

I Y FA R |9 7 _ =

aat

TSy &% &1 &1 HihsT AT Hil

1. Figure 4/ 3ih ST 4

2. Figure 2 / 3 ST 2



3. Figure 1/ 3fi®el 1

4, Figure 3 / 3f® 81 3

Correct Answer :-

« Figure 4/ 3HsT 4

7_ 44 43 _ {4y

19) Find the value of 'K, if * —2¥+ 1 jsa factor of 2¥~ +%° —1ldx*+5k+6 ,

gy 26t +x° —14x* + 5k + b prum e X° — 28 T 1 & dY ‘W &1 W 7d BV
L -1
2.2
3.1

4.3

Correct Answer :-

20) Find the missing number in the following pattern. /
Frafafea 3 & qu e g w11

7 ,1,5,__,17

1. 11

2.4

3.7

4.6

Correct Answer :-

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 ¥ Ydadf 37T 9871 F WRadl & &I 3R b1 id B

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-
« 88828

22) Find the GCD of 10, 20, and 30. /

10, 20 3MY 30 HT HETH FIUTSIP (GCD) FId H1|

4. 30

Correct Answer :-

« 10



23) A scaled down teaching encounter is known as .
A (FFpes s18-) Rreror wead F = § ST oI 21
1. Macro teaching / 98 fR1&f01 (Heh! Affm)

2. Micro teaching / & TRIefo1 (wTgep! Af=im

3. Mastery teaching / Tat0T fR1&for (ARe <ifeim)

4. Model teaching / Aied RI&0T (Higd <ifeim)

Correct Answer :-

« Micro teaching / g&H fR1gror (ATgsh! Afm)

24) Postulates are assumptions specific to .
g, i d &t sgyRume 7

1. trigonometry / [ECALIGIG]

2. algebra / EISHIG]

3. geometry / Sanfafa

4, arithmetic / KETING

Correct Answer :-

* geometry / St

25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by i
TEATNGH S ARl SR’ F GRT 3R B R far mar &1 A
1. Al Kharkli / 37eT TReRil

2. Abil-Wefer / 3ifda-dthR

3. Omar Khayyam / 3HX G&HH

4. Al-Khwarizmi / 3-TATNSHL

Correct Answer :-

o Al-Khwarizmi / 3T-TAToH]

26) is the ability for a child of two years who is able to distinguish between more and less things when he/she is fit to consume food.

; A T & I DI &A1 & S HISH BT STHNT S & e fibe 311 R 3 3R od A6l & fig ofdT & § 9&|
|

1. Understanding of notations /W?ﬁw
2. Recognition of numbers /WTE%‘TERH:T
3. Recognition of notations /Waﬁw

4, Innate number sense /mma‘m

Correct Answer :-
* Innate number sense /WH"@IT@[H

27) Rhombus is formed by joining the midpoints of the adjacent sides of a i
F 3T s & Heafagst & e 3 Tuagys a1 81
1. Rectangle / 3mgd

2. Parallelogram / THFIGR agyst



3. Rhombus / H’Hﬂ@’i\?{

4, Kite / a1

Correct Answer :-

» Rectangle / 3{1dd

28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /

7 GSH| BT AT Toi 45 fHUT 81 399 F 6 F1 awi= 53 {5, 45 fFm, 40 forwm, 37 faam, 42 5 aut 50 3w 81 79 @e® &1 Il A B}
1. 42 kg / 42 T

2. 48 kg / 48 famm

3. 45 kg / 45 famm

4. 50 kg / 50 fam

Correct Answer :-

o 48 kg /48 T

29) The degree of the polynomial (2x —8) + (8~ 2x): /
| (2x —8)=(8—2x) N

1.1

30) The action verb for giving examples of different types of sets is ./
fafira yoR & wq=al & Sareur 3 & e frares fisar 21

1. classifying / B

2. comparing / T

3. differentiating / ﬁﬂ—cﬂ

4. listing /WUT

Correct Answer :-

o classifying / EHBROT

31) The graph of the linear equation 2x +5y =10

&P TP 2x + 5y = 10 FT AW TH 3@ ¢ ot fig TR x-37e1 | forerar 21

1.(0,2)

is a line which meets the x-axis at the point v

2.(1,2)
3. (5,0)
4. (2,5)

Correct Answer :-



32)
Which property is used to equate: /

Tfiea HA F g e qurent 1 SuaT o s 3:

i. 19 x 13 = 190 + 57

ii. (-34 - 53) + 23 =- 34 + -30

1. i - Commutative property, ii - Associative property /i - R ICIRE T, ii - GEARI 07
2. i- Distributive property, ii - Closure property /i - ﬁ?‘R'UWZ[UT, il - HTYT 07

3. i - Commutative property, ii - Closure property /i - SFHEQIH IO, ii - FHTGH 07

4. i - Distributive property, ii - Associative property /i - [qTRUTE® U, ii - TEART 70T
Correct Answer :-

e i- Distributive property, ii - Associative property /i - [EGRUIEED 01, i - Hgd 3 qor

33) Choose the solution for the equation: x+9 = 12./
FHBIT: x+9 = 12 F A BT T4 DR

1.3

2.4

3.2

4.6

Correct Answer :-

34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2 rounds of rope at the rate of Rs. 10 per metre.
Find the cost of fencing. /

JISHT P U 210 Hiex dat 3R 165 HeX DS} T MaATRR qraTe &1 98 10 30 Ufd Hiex o1 7 A T&A & 2 R A 59 1€ =1 I1gdr 2 | 918 oA
P AR J1d DI

1. Rs 15000 / 15000 35

2. Rs 7500/ 7500 300

3. Rs 6930/ 6930 300

4. Rs 693000 / 693000 T

Correct Answer :-

« Rs 15000/ 15000 39d

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
a2 y-31e1 A T g B oo g 4 gPE R, A g #:

1.y coordinate 4/ y &=ra 4

2. x coordinate -4 / x ISR -4

3. x coordinate 4 / x FERI® 4

4, x coordinate 4 or -4 / x FET® 4 YT -4

Correct Answer :-

« x coordinate 4 or -4 / x RS 4 YT -4



36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

i Ul (-3,6),(0,3) Td (3,0) U I @H BT x T y A & &, ot GHipeor 8-
1. y=x-3

2. y=x+3

3. x+ty=3

4, y+2x=0

Correct Answer :-

37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
I Y &1 A% d J1d B et 2 p2,0), Q(5,0) TERG2) §:
1. 25 units® /25 IHTE?

2. 6 units? / 6 SBIS2
3. 4 units? / 4 DTS2
4. 3 units? / 3 3PTE2

Correct Answer :-

« 3units? /3 3PR2

38) Which one of the following points does not lie on the line 2y = 5x-2? /
ﬁaﬁ@aﬁﬁaﬁmﬁﬁg%m 2y = 5x-2 R YT TE 8?2

1. (0,-1)

2. (-4,-11)

3.(-2,6)

4.(2,4)

Correct Answer :-

39) Which one of the following is not a teaching style? /
Frafafed & & o9 g g e 751 82

1. Scolding / T=reaIT

2. Demonstration / i

3. Inquiry / SITd

4. Discovery / 339U

Correct Answer :-

« Scolding / TereqmT

40) Which one of the following statements is false about polynomial? /

Frafafaa o § S9-91 F39 95U & Tay A s 32



1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x),
where degree of r(x) > degree of g(x). / IS UMY & SFTAR, HI TGUL p(x) P T8 WIS g(x) I faHIfow faam St 8, a1 HITheT q(x) T W r(x) 39 UPR
TR T p() = g q(x) + r(x), TET r(x) HT T > g(x) FT 61 3|

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / 9Td 3 F wuwa@ﬁﬁ SBT3 YAH) AP gl

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / UTd 2 & HIY TH dgue § Hwad 2 LAH) BRG]

4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). / Afc Teh THIDHRUT BT AT x-3H&f ﬁa‘rﬁgsﬁ R Bl g,
FeftepROT H 2 Y (1A B 6|

Correct Answer :-

» According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) +
r(x), where degree of r(x) = degree of g(x). / fATST TTUMTAfY & STHR, UIsH TGUE p(x) P ST IS g(x) W AT e Sirerl &, A Wbt q(x) Tk 2 r(x)
T UBR 1R & p(x) = 9(x) q(x) + r(x), SR r(x) BT W > g(x) HT 4T §1

41) Abscissa is also known as the ./
Y (YWIip) A W ST En R
1. X-axis / X - 3{&

2. Point /ﬁ’g’

3. Ordinate / BIfC 3f&f

4. Y-axis / Y - &l

Correct Answer :-

o X-axis / X - &

42) Visualizations and drawing conclusion is achieved through the study of ./

FHeUAT SR Y@ s & srends & wrens | e faan wmar 31
1. Analytical Geometry / fazavoneTs sanfafa

2. Spatial geometry / TS St

3. Algebra / STOTTIOT

4. Arithmetic / KETIIG

Correct Answer :-

« Spatial geometry / S St

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle. The area of circle is: /Wﬂﬂﬂﬁm 44 '\Q'lﬁ%l

f THS 3 BR T |1y Wtg T o4 €, < I8 T a1l § 1 991 1 e 8:
1. 14 cm?/ 14 972

2. 44 cm?/ 44 T2

3. 154 cm?/ 154 ¥2

4. 28 cm?/28 I2

Correct Answer :-

o 154 cm?/ 154 32

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits interchange their places. Then the unit digit of the
number is: /

3 SPIY TEAT P 3] BT ANT 5 ¢ 1 Af T@I H A 9 TeTIT SITdT R, dt 3icp 31U R uRafdid @3 a4 €, df UBIT B1 SHTS 3/ §:
1.2

2.9



3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circle is ./

it gu B IR TUT Tra TeTAE EU AT, Agu i #
1. 3 units / 3 SBTS
2.1 unit/ 1 SHTE
3. 4 units / 4 THTS
4.2 units / 2 3PTS

Correct Answer :-

. 2units/2337'l'§

46) “Let no one enter who is ignorant of mathematics” was statedby ./
Iforg A AR FIS MafFR @I s’ RISl

1. Thales / Drci]

2. Pythagoras / UT_&'WW

3. Enchid / TAfIS

4. Plato / e

Correct Answer :-

« Plato /@E}f

47) The abscissa of the point of intersection of less than ogive and more than ogiveis ./
<19 fawpof (ogive) T HH U1 9 feoi @ aﬂw%uﬁﬁhﬂﬁgaﬁ YOI (abscissa) _%I

1. Mode / 9gch

2. Mean / HI¥H

3. Median / AT

4. None of the above / SIRIFd & ¥ HIS gt

Correct Answer :-

+ Median / AT

48) Find the odd one out. /
A1

1.<

2. =

3.0

4. #

Correct Answer :-



49) Generalisation of Arithmetic is: /
SHIIG PT HTHRABRT 3:

1. Algebra / oo

2. Probability/m

3. Statistics / TRSTHT

4. Calculus / Fep e

Correct Answer :-

e Algebra / dreIforg

50) A single linear equation in two variables has: /
I A U a R wlieRu ge §:

1. Maximum two solutions / 3f%dH &l g

2. An unique solution / T 3ffgai g

3. Infinitely many solutions / 3fid §&

4. More than 2 but less than 4 solutions / &l § 313 Al 4 @WBFI

Correct Answer :-
« Infinitely many solutions / 3id g

51) 'Let no one who is unacquainted with geometry enter here' is connected with _____./
P1$ Wt fea it sfafa & sk 8, wefwamra s, d__ S waf@ e

1. The Sophist School /WW

2. The Platonic School /WW

3. The First Alexandrian School / g cll mw
4. The lonic School / WW

Correct Answer :-
« The Platonic School /WW

52) Which of the following is considered as undefined term? /
Frafafaa & Q f5a srafvufa ug ar=r smar 22
1. Point /ﬁ—g'

2. Quadrilateral /ﬂﬁﬂﬁl
3. Circle / 91

4. Prime Number / 3THTST S&AT

Correct Answer :-

. Point/ﬁg

53) The author of Lilavathi was: /

wHerad & aae 3

1. Brahmagupta / STel{ &
2. Aryabhatta / Gl'l'lfug

3. Bhaskaracharya / YTRRTETY



4. Ramanujan / THTZST

Correct Answer :-

» Bhaskaracharya / YIRRTETY

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / afg P(3,-5) Td Q(-3,-6) &Y fag¥ &, 1 Q F P-Hife &1 YT 3:

1.0

2.3

3.-11

4.9

Correct Answer :-

55) CANCELLED
In APQR, 2P = 90° and X is the mid- point of PR. The value of QR? — QX? isequalto .
| APQR#, +P=90° Tl PR & HeAfdg X 81 QRZ—Qx* FT AW = R

1. 2P’X2

2. 3PX:

3, 4PX2

4 PX?

Correct Answer :-

. 3PX?

56) 3Im6cm=7?/
3R 6t =2

1. 3600 cm / 3600 TH
2. 360 cm / 360 T
3. 306 cm / 306 9

4.30.6 cm /30.6 4

Correct Answer :-
« 306 cm /306 S

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins Rs. 20., and finds that he has exactly what he
had in the beginning .What was the amount he originally had ? /

T ATGHT T YRIR BT Up-fAeTs R ST 8, B3 10 $ud Sitdar 8, 3TP d1g a1 & SHST UH-1aeTs R oIIdT 8, 20 YA Siddl 8, 3 SUD UIRT ST &l
YARTIRT & et sy & 1 0P U Y& YRR fhat o2

1.Rs.12/ 12 300
2. Rs.24 /24 300
3. Rs.48 / 48 308

4.Rs.36/36 300



Correct Answer :-

+ Rs.48/48 %00

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and the largest angle is. /

Tfe BIYS & H0 T AFUTE 2: 3: 4 B, @ TG BT 3R TGQ TS FIUT & S BT 3R F1d e

60°
1.

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm, then its area is: /

fe T W WY $ YT 12 i 8, Y 3P dABd 7:

156v2

2562

2163
3.

129v3

Correct Answer :-
2163

60)

Which one of the following expressions is false? /

e ¥ & o)9-a1 seie Tad 22
2)9999 <1000
b)1052<1025

€)958765>957865
1.Bothaand b/aTdbamr
2. Only b/%adb

3. Bothband ¢c/bTd c GHI

4. Onlya/ma

Correct Answer :-

« Bothaand b/aTdbaHt



